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ENHAHERE 75 92 -17 -18.5
SHEZRE 119 124 -5 -4
SMEERE 238 219 19 8.7
N EE*$§ 41 50 -9 -18
St E=RE 1205 1071 134 12.5
SNEERE 656 621 35 5.6 112
REERE 414 343 71 207 8
SWEERE 166 207 -41 -19.8
AEERE 763 712 51 7.2
BLERE 74 52 22 42.3
—BERE 183 216 -33 -15.3
BEEFERE 194 186 8 4.3
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ENHAHhERE 1 2 -1 -50
SHEZRE 2 2 0 0
SNEZERE 2 5 -3 -60
/J\Eﬁ*$§ 0 3 -3 -100
SmitERE 29 18 11 61.1
SREERE 17 11 6 54.5
RS 7 5 2 40 3
SMAERE 1 2 -1 -50
ABERE 10 15 -5 -33.3
BLEERE 1 0 1 -
—EERE 2 0 2 -
BEEFERE 1 5 -4 -80
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ENNHERE 5 9 -4 -44.4
SHTERE 0 13 -13 -100
ENEERE 12 10 2 20
INGTRE 1 0 1 -
SmitERE 41 48 -7 -14.6
ENEERE 27 23 4 17.4 |
HEEE 34 17 17 100 213
SRAERE 7 9 -2 -222
ABEERE 45 39 6 15.4
ELERE 8 6 2 33.3
—2ERE 11 11 0 0
BEFTERE 22 11 11 100




